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Enter an integer: 4

Output: Even

Enter an integer: 3
Output: 0Odd

Enter an integer: 6

Output: Even
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Enter an integer: 6
Output: O0dd // Incorrect

Enter an integer:
6 // newline with string literal and input value

Output: Even

7 // input format is incorrect (need ‘Enter an integer:’)

output: 0dd // ‘Output:’, not ‘output:’

Enter an integer: 6

Output: even // ‘Even:’, not ‘even’

Enter an integer:6

Output:even // no space after the colon ‘:’. space needed after the colon
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Input: 2 Output: true
Input: 107 Output: false
Input: -107 Output: false

Input: 0 Output: true
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N=123491 7% 32 10 (=1+2+3+4)
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Input: 1234 Output: 10
Input: 24 Output: 6
Input: 6 Output: 6

sl Fi-

2
flo
o
J

PP04.03 ALgAEE 44

AN)e e, MEA s NEA 7l
bonacciSum() H|AEE EJ}5H= T

H =
ZeI%s 2dstA L.

1
1

Rl
N
N
o,
%

o THLA] £FO] AJAL a, = a1 + ap—22t ZOH, 27T a1 = 0,a, = 10]2}
= 9gs51H 0, 1, 1, 2, 3, 5, 8, 13, 21, 34, 55, .9} &

o dE 0], N =321 3% 45 23 (A FHE AAA 70219 3, 0+1+142)0, 1, 2, 3, 5, 8
25 (YAt 17E AF)
e FibonacciSum() WAEE A4-d Hay 1715 ui7fds2 7HR Y, diste e A5

Table 3: Y& o|A] (* ‘Input: ’, ‘Output: o] HIEA] FA|E|ojof Ado 7 QA H)

]

i

ok




Input: 0 Output: 0
Input: 1 Output: 1
Input: 2 Output: 2
Input: 3 Output: 4
Input: 4 Output: 7
Input: 5 Output: 12
Input: 6 Output: 20
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Input: 4 Output: 2 3
Input: 10 Output: 2357
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Input: 5 Output: 1
Input: 10 Output: 3
Input: 7 Output: 1
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Input: 4 Output: 0, 1, 1, 2, 3
Input: 10 Output: 0, 1, 1, 2, 3, 5, 8, 13, 21, 34, 55
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Output:
Output:

Input: 5
Input: -3
Input: 3




